


x+l =J§, and x > 1, what is

X

If

1A
xs-—s ?
X

the value of

(@D(W0) =

|

8

g o —
x®

=\/53ﬁ'\'x>1§,?ﬁ

1
X+ —
X

&1 79 &

(a) 12043  (b) 1283
e 11243  (d) 10843

©



If the third proportional of 3x? and
4xy is 48, then find the positive

value of y.

I} 3x2 3R 4xy BT TARUE 48 &,
A y BT GHS A ST DT |

el 3 (b) 5

(c) 2 (d) 4



Intertainment
15%

Tra nsportation_/
10%

Usxac

Education
30%

The distribution of monthly
expenditure of Ramesh on various
items is shown in the following pie
chart.

faff=1 #<f W W9 & ARE g H
faaqvor frafofea g =d A feamn
AT B |

If the monthly income of Ramesh

is Rs. 45,000, then find his total

monthly expenditure (in Rs) on
housing and transportation.

Ife 9 & 9IS 3T 45,000 9. B,
dl I 3R URagT W SHBT fdl
9% g (FUA ¥) S P |

(a) 16,800 g 15,750 @
(c) 11,250 (d) 13,500



In a circular path of 600 m, Pankaj
and Rohit start walking in opposite
directions from the same point at
the speeds of 2.85 m/s and 5.4
km/h, respectively. After how
many minutes will they meet for
the first time? (Rounded off of one
decimal point)

sooﬁ'm'a%qam'\'ww q%waﬁ?
Aed b § fdg 9 2.85
ﬁav/maﬁvs4ﬁfﬁr/aaaﬁnﬁ
q faudia feemeii # 9o & o B
9 fhaq f9e 1€ gl IR fef? (T

<¥Hed fdg a& gurifea)
(a) 3.2 upfz.s

(c) 2.7 (d) 4.7



If 1+sin°0-3sinf.cos0=0, then

the value of cot9 is:

aﬁ 1+sin’0-3sinf.cos0=0 , ?ﬁ

cot 0 T A &:

(a) 0 Jpn/
| ]
5.1 .l

(0)2 ( )3



If the number 55pl1067q9 is

exactly divisible by 99, then pq is
W\ equal to:

H&IT 55p1067q9, 99 ¥ Ui
farsy 8, @ pq fha® aRIeR 87

35 (b) 28
(c) 36 (d) 42

(A2 @
, P41
T s
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What is the difference between the
total surface area and the curved
surface area of a cone whose radius

is 35 cm? (Taken - %)

e g, foraa Brear 35 991 3, Sua
Hd TS &% R T IO &b
a%iraﬁmmafa‘\'%? (x = 22/7

u( 3850 cm? @

(b) 3704 cm?
(c) 3750 cm? = \\

_X\d) 3675 cm?



By
©

A merchant marks up the price of
his goods by 40% more than the

th

cost price. He then sells % of his

goods at a discount of 10%, half of
the goods at the marked price and
the rest of the goods at a discount
of 20%. Find his profit percentage.

TS AR 391 T BT I HY T
¥ 40% 3% sifea w=ar g1 R 98
3 WM HT 1/5 HFT 10% B BT
R 9Tdl 8, IAET WA ifdd oI W®
IR IY WHHE 20% H BT W 9T § |
SHST A e S BT |

(a) 20.4%  (b) 30.2%

A 28.8% (d) 14.6%



Let x = 224 and, y = 322. If the
highest common factor of 23x and
axy is divisible by x and y, then
what can be the possible value of
a?

AT x = 224 3R y = 322 B I 23x
IR agy PT HETH FANGIP x AR y ¥
fareg Al a @1 WAIfad 79 o1 &

T 87

(b) 8

(c) 12 (d) 4

&



If the equation k(21x2 + 24) + rx +

%CQIKH"I) +AN+YKk9= 0 (14x2-9) = 0

3 ( ( ( k(7x2 + 8) + px + (2x2 - 3) = 0 have

2 (K R) 1 P A+¥K-3—=0 both roots common, then the value
of p/r is:

yoo§ Covvmeta e TR k(21x2 + 24) + rx +

C’% pwmﬂw (14x2-9)=0

k(7x2 + 8) + px + (2x2 - 3) =0 &
AUk qexz N W RS E @ op/r 3 A

(b) 2/5

ATT/3

(c) 4/3 (d) 7/5



The average score in an English
exam of a class of 45 students in a
coaching centre is 52. A group of 6
boys having an average score of 40
leave the class and another group
of eight boys having an average
score of 43 join the class. What is
the new average score of the class?

TP PIT Wex d 45 BIEAl B b HeEl
DI AU TR H AT R 52 B
40 & A TR dqTl 6 ASHI Bl UH
g & Bl$ QT 3 AR 43 & IHd
R 9l S dSDl DI (b I T
HeT ¥ WA B SAT 8| BET BT AT

AT R T 87
(a) 48 (b) 53

(c) 49.5 ‘9{52



In a box of 100 bulbs 30 are
defective. What is the probability
of getting more than 2 defective
bulbs if 5 are chosen randomly
from the box?

100 ¥ @ TP ¥ # 30 vyl £
gf} df9 § 9 5 @I YgBD WU |
g1 91T §, O 2 ¥ IS Y 99
e @t mfrdar T 87

(a) 0.124  (b) 0.213

(c) 0.264 | 4#r0.163 @



If n € N, then 722 + 2323 301 jg
always divisible by

qﬁnEN%'a‘[72n+23n-3.3n-1q%}a
forTow &

(a) 15 M

(c) 35 (d) 45

®



A wooden piece in the shape of a
cuboid is divided into five equal
parts by cutting it with four cuts
perpendicular to its length, and it
turns out that each piece is a cube
of volume 27 cms3. What is the

total surface area (in cm?2) of the
cuboid?

UH U9 B PR BT Ud APSl &l
THSl SHD! Talg D edd GR BIC
e} UG SXE} 90 # 9ier oer .
3R g8 =1 BT B b u—D IHeT 27

$X3+3X3 ¢t [P AT BT A &1 A TA BT Fel
:?('[—“' "’tl§2§§3’ IS @F%d (@R #) feaar 27
(a) 174 (b) 150

(c) 216 4] 198



Ravi has to go from Hyderabad to
Delhi. The distance between
Hyderabad and Delhi is 1,200 kms.
He decides to travel 25% of the
distance on foot, 30% of the
distance by bus, 15% of the
distance by train and the
remaining distance by an airplane.
What is the distance travelled by
Ravi by an Airplane?

MAd & ewEE 9 fReeil T B
gavEre R et @& g & @
1,200 f&f 81 T® 25% W U4,
30% T 9 9, 15% T 9 ¥ 3R
A9 A AE SBTel § 9 HXar 3| M
gRT 841 o8 ¥ 99 @ g W
= 87

(2) 300 km #5360 km

(c) S80 km (d) 425 km



9/ =133

1007. —yDS
..

A certain sum amounts to Rs
22,494 in 7 years at x% per annum
on simple interest. If the rate of
simple interest per annum had
been (x + 4)%, the amount payable
after 7 years would have been Rs
25,917. Find the sum invested.

e A¥Ed g9 IR &9 )R x%
afd af Y R ¥ 7 991 § 22,494 TG
8 o 8 I} ufd o9 SR s
DR (x + 4)% B, O 7 99 D qQ
& ¥ gfdr 25,917 YUY B |
e 9 13 g9l ST |

(a) Rs 11,975 X

(b) Rs 12,275 X
(c) Rs 12,175 X
(d) Rs 12,225 v



In the data set given below, what
is the difference between the
Median and the Mode?

99 Ry MU oiwsl @ wR@E ¥
wiftgdT SR Tgad H faba siaR 87

2.1, §, 6, 7, 8, 9.3, 11, 15, 17,
19.21, 27, 31, 31, 33, 16.5, 14, 10}

(a) 19 M

(c) 10 (d) 15
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X placed an order for 20 shirts
marked for Rs 750 each. The
shopkeeper offered 20% discount
on purchase of 20 shirts. He
allowed a further discount of Rs
500, as the payment was made in
cash. Find the final selling price of
each shirt, if the selling price of
each shirt is the same?

X 7 9% @ forg 750 v0 sifed
dTell 20 ¥E & e fQAT| gHFER A
20 I P WIT W 20% I B Bl
UYHY B | /I 500 $IY B AR B
@ IgAfd q, ife PraE THe d
far Tar o | u_”€e e 31 sifoH famg
7 §d Hifo, I TRe WA @
g Toa w9 87

JUaRs 575 (b) Rs 650

(c) Rs 550 (d) Rs 625



(a) 14
(c) 15

O

(b) 12
Lid) 10

A train P going at the speed of 70
km/h completely passes train Q of
length 170 m, going in the same
direction on parallel tracks, at 56

|
km/h, in 15 minutes. How much

time (in seconds) will P take to
cross completely train R of length
220 m, going at 74 km/h in the
opposite direction?

70 f&H /der & Ifd A g qrell P
o9 P 99Fia} el I} 56 f&Hr /ger
@ T A gEE e F S @ 170

Hex od 29 Q B fmel 4 @
T8 9 UR &R O 8] P & A
faer d 74 f&d /ger & 7fd | <7 @)

220 HIcR &l ¢ R & T @8 9 UR
& ¥ foaqr 99g ([Ads H) e



Yf

3-2Y=5

Ut3) - 3(y13)=Y

-3y,

el

Three times the present age of
Sujatha is 5 years more than two
times the present age of Vanita.
After 3 years, three times the age
of Vanita will be 4 years less than
four times the age of Sujatha. The
age of Vanita is k years more than
that of Sujatha. What is the value
of k?

GOl @ g9 Y BT A= I,
afrar & IHE AP D A A | 5 T
dferd 81 3 9N qI, afvar & A B
A TN, Gorar B MY D AR YA |
4 99 $HH NN | faT P Y Gorrar |
k 9% 3P 8| k BT A9 T 87

(a) 3 ot

(c) 7 (d) 9



P is any point inside the rectangle
ABCD. If PA = 27 cm, PB = 21 cm,
PC = 6 cm, then the length PD (in

D - cm) is equal to:
P 3G ABCD & 3R 315 fag 3| A
PA = 27 9¥I, PB = 21 94, PC = 6
¥ 8, o &erg PD (@ #) IR &
4 R
(a) 15 (b) 10

A n s ©
07\“
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(c) 43,425

Raghav’s average earning per

month in the first three months of
a year was Rs 45,000. In April, his

1
earning was 335% more than the

average earning in the first three
months. If his average earning per
month for the whole year is Rs
45,300, then what will be Raghav’s
average earning (in Rs) per month
from May to December?

9 @ Ugl diF JeFl # Iraq H "
18 39T HHE 45,000 U off | I
H SH HHIS Usel diF HeHl @ 3id

FAE R/ 33%«%@1?5@.:@@“
» fou SO ufy #E g @arE

(b) 43,450 45,300 39 § O Hs 9 fegR d&
(d) 43,580 =g & Ui #E M FAE (PUA H)

T BRfI?



Find the smallest number that can

be added to 467851 to make the
sum a perfect square.

9 §eW B @ F6 iy o
467851 # S} AT B (@ T T

ST S 9 |
Y
(c) 6 (d) 3



The sides of a triangle are 15 cm,
28 cm and 41 cm. What is the
length of its altitude
corresponding to the side with a
length of 28 cm?

Ud e @ Yo 15 9, 28 ¥
AR 41 I §| 28 WA 1g qTell qou
P AT6U FHDI Halg DI didTg 991 87

(a) 14 cm (b) 10 cm

(c) 12 cm yﬁcm ‘@
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A dealer buys apples at Rs 50, Rs
40 and Rs 30 per kilogram. He
mixes them in the ratio 2 : 4 : 9

respectively, by weight, and sells
at a profit of 30%. At what

approximate price per kilogram
does he sell the apples?

U Sk 50 ¥YY, 40 YA 3R 30
S yfa ™ w® J9 wRiEar 2|
98 9= doM B IJER  HAM
2:4:9 @ JuTd A B g, 3R
30% & oM WR S9ar 8| 98 Wufd
fream™ o fhaa M W |9 S9dT
=14

(a) Rs 10.8/kg

\_ATRs 45.9/kg

(c) Rs 75/kg
(d) Rs 23.5/kg



In AABC, DE || AC, where D and E
are the points on sides AB and BC,

respectively. If BD = 4 cm and AD =

2J§ cm, then what is the ratio of
the area of ABDE to the trapezium

ADEC?
= AABC ¥, DE || AC, W8I D 3R E
AL Yo AB 3R BC W fig g1 Il
BD = 4 9l 3R AD = 2.2 91 8, @
BDE 3R 9H¢i§ ADEC & &J%Bd &I
31UTd 4T 87
m)241+J3

(d) 2:(1+342)



AB is parallel to CD. A transversal
PQ intersects AB and CD at E and

F, respectively, and ZPEB=78°. G
is a point between AB and CD such
that ZBEG=18° and ZGFE =30° .
What is the measure of ZEGF ?

AB, CD & 9AMIR & | (& fads @
PQ, AB 3R CD & %9 E IR F |
dlcl & 3N ZPEB=78° 2| G, AB
IR CD & da e g 8 o &
/BEG=18" 3R ZGFE=30° B|

®T AT T 87 ﬁyv)

(a) 68° @ (b) 58°
) 66° (d) 72°



The ratio of the height and the

diameter of a right circular cone is
6 : 5 and its volume is 2200/7
cm3, What is its slant height? (take

n =22/7)

U6 dd T[N T B SR AR SUD
R BT UG 6 : 5 B 3N FHRI
JIAT 2200/7 |98 | g9 fod®
SR 1 8¢ (= 22/7 o)

(a) S cm (b) 25 cm

(c) 26 cm yti cm



A shopkeeper professes to sell his
goods at a 10% loss but uses a
false balance and gains 15%. The

actual weight (correct to one
decimal place) he uses for 1 kg is:

UH GHMIR ATAT §HME 10% B TR
999 BT Qa7 HIAT & olfb Taad gl
BT SYIRT BT & AR 15% BT
v Bl 2|
1 fdam @& fou 98 aafdes ao=
(EFed & U R d& gl &l
SUART BT &

\_I#"782.6 gm (b) 784.4 gm

(c) 788.4 gm (d) 785.6 gm




If the mean of the following data is
22, then what is the value of x?

gfe fA=forRed <1 &1 a9 22 8,
XWWW%?

\/(9 (b) 6 Co

(c) 13 ()19 Yo
|50
23x=—1 0 ¥t 24s



2 2
sec“0 + cosec“O

Let0°<9<90°.\/ - 5
tan“0 - sin“0

(1+ tan’0) sin’0© .
X is equal
(cosecO - cotB) (1 + cosO)

to:

Ifg 0° < @ <90° 8, ar

\jsec’ﬂ +cosec’® (1+tan20) sin’0
tan’0 - sin’0 (cosecO - cotB) (1 + cosB)

feas e 87
(a) cot’® (.1'" W

(b) sin’@cos’ © S‘ﬁ’
\)p)c/oseczﬂ .sec’© 2 ){7{0/

(d) sec?®



o (15x - 9) . (15y - 9) . (152 -9) _

X y A
0, then the value of L + L + L. is:
X y z

af (15x - 9) . (15y - 9) . (15z - 9) _
X y z

o, i"%*% wws us—= 7(7)

(a) 4 (b) 7
AN )




The cost of a washing machine is
40% less than the cost of a TV. If
the cost of the washing machine
increases by 18% and that of the

TV decreases by 10%, then what is
the change in the total cost of S5

washing machines and 2 TVs?

s aRiT 79 & 9 @ AN @
I | 40% &9 7 | Ife aif¥iT 739 &
I § 18% @ gfg sl 8, 3R Al
® g A 10% O B BT B, A 5
iR 7Y 3R 2 O P FaA T H
far aRad= grar 87

(a) Decreases by 6.4%
(b) Decreases by 6.5%
(c) Increases by 6.5%
(d)Ancreases by 6.8%



Which of the following statements
is true about the nature of roots
for the equation x(x + 3) -8 = 2(x +
3) (x - 3)?

Hr2yn~]o=0 fr=foRed & @ @19 &1 oM, THHR

x(x + 3) - 8 = 2(x + 3) (x - 3) B HaAl
P ypfa & favg & 9 2|
X (a) Two imaginary or non-real roots

(b) Roots are irrational

(ACT Two real and distinct roots

@ (d) Roots are real and equal



Simplify (4x - Sy)2 + (5x + 4y)? +
(4x + Sy) (4x - Sy).

WA BN (4x - 5y)? + (5x + 4y)? + (4x
+ Jy) (4x - Sy).

(a) -58x2 + 16y?

[(b) 57x2 + 16y? ) @

(c) 58x2% + 16y? o
@
dﬂ\{ﬁ

a
GQ m

(d) -57x2 - 16y?



The given pie chart shows the
sales of a company over five years.
Study the chart and answer the
question.

fear a7 g 3 i ast § U HuHl
P fIp <oiar 81 9 &1 =TI B
3R U BT SN T |

Total sale in five years = Rs
50,00,000



Sale = expenditure + profit

Profit% = (profit/expenditure) x

/—\ 100%
If profit of the company in 2005

Rg_" ' 000000 was 25%, then find the
8 expenditure in 2005?
—_— 8o . .
e urg 991 # §o 4 = 50,00,000 T

faspg = <19 + @™
A% = (M9 /<49) X 100%
@ Ife 2005 H HY BT A 25% T, af
2005 # I 1A HIfTA?
(a) Rs 7,20,000

\ T Rs 8,00,000
e

(c) Rs 62,500
(d) Rs 7,50,000



If P(A) = 2/3 and P(B) = 5/8 and
find probability of only B occurring
if probability of only A occurring is

1/6?
afe P(A) = 2/3 3R P(B) = 5/8 &,
dad B 3 °fed M & WRdd s

PIfTT afe Pad A & B9 P TRIBar
1/6 87

Ao efs ms

5 (c) 1/6 (d) 2/9

®

4




The material of a sphere of radius r
is melted and recast into a hollow
cylindrical shell of thickness a and
outer radius b. What is its length
assuming that no matrial is lost in
recasting?

r B & U@ M 3 g B REemn
ST 8 9T Aers | iR 9 S b

P WGl JoFTPR @i H STell Srdl
2| SHP! el 4T 8, 98 A 8¢ &
gﬂ\‘wﬁaﬁéam!ﬁwﬁgé%?

(a)
3a(b+a)(b a)
3a(2b a) / @

3a(2a b)

(c)

4r°
3a(b - a)

(d)



Jehangir had to cover a distance of
90 km in a an hour. During the
first 25 minutes he travelled at a
speed of 15.2 metres per second.

How many metres did Jehangir
cover per second during the
remaining period to reach his
destination just on time?

SEifR @ U & d 90 fhader &t
U aF < Al U 25 e @
GRM S8 15.2 #HleX ufd Ads @
A § & B GERR 7 G W
U4 Tq Th Ugaw @ ol AY G
@ 3RME ufa P fHa A @
T D7

(a) 30.8 (b) 32.5
(c) 32 (d) 31.2



7(’4—1. = 352 (IS)
23S =iy

If x >0, and x*+— =254, what is

X

|
the value x° + —?

X

I’ x > 0 IR x*+ =254, @
X

x5+l5$r==rﬁam%?

X

yﬁlzﬁ (b) 7232

(c) 720v2  (d) 72642 %

e



A policeman noticed a theif from
300 m. The thief started running
and the policeman was chasing
him. The thief and the policeman
ran at the speeds of 8 km/h and 9

km/h, respectively. What was the
distance between them after 3
minutes?

S UH TR B 300 Hiex &
A ¥ @ odl B TR URHET RS

ST B 3R gforaaren SHHT st Sl
gl dR &R yfodarer HEE 8
fodY /er iR 9 foi /der o wfd 4|
drs @ &1 3 fiFie B, g 59 d9 &
0 4T BRf?

(a) 225 m  bY250 m

(c) 300 m (d) 200 m



'

If the area of a circle is 616 cm?
and a chord XY = 10 cm, then find
the perpendicular distance from
the center of the circle to the
chord XY.

I TP 9 &1 &T%el 616 T2 B AR
ST XY = 10 9 8, A 99 & &g 9
SiaT XY &I didad X1 S DI |

/\/17%
(b) V161 cm
(c) V117 cm

(d) V181 cm L\\\“ )

()



Archana took a loan of Rs. 78,000

from a bank on 24th January 2012
3

at 82% per annum simple

interest and paid it back on 18th
June 2012. Find the total amount
paid by Archana. (Aproximated to
nearest integer)

EAT 9 78,000 JUA BT FUT forAT|
24 TEI 2012 @I fa a9

IR 9 R U 86 9 g e

311?1861320126%%%
far| seAT gRT YA @ TR

mmmuﬁmm$

ferg )
s;rés. 80,723 ﬂ“%

(b) Rs. 90,730
(c) Rs. 85,733
(d) Rs. 88,730

8129431430431+




A certain amount is lent at x% p.a.
simple interest for 3 \years.
Instead, if the amount was lent at
3x% p.a. simple interest for ‘y’
more years, then the simple

1, — | interest would have been seven
< — times the earlier interest. What is
ﬂ'H-B)? p the value of y?

v fAf¥Ed <fd x% ufd af 3 af &
T AR &9 IR SR <) S 2
e 99y, Ife <f¥r 3x% ufd a¥ w®
‘v’ VP I & T AR AT @
W ¥ SYR § g B, O EERT
TS U8 B TS BT | T[T 81T y

$T AE T 87 @ /\
M,

(a) 3 «1D) 4

CE (d) 6 ~15\9‘/




1.
x2__2
X

If =4./6 , and x > 1, what

is the value of |x3 - is ?

X
/?—iz=4\/g aﬂ? N 1,
X

. .
')H%f‘b xa-immm%‘?
AL @202 (b LYz

AWl ) @R



A and B are independent events.
p@)‘-‘—l— P(ﬂ/.— The odds in favour of A and B are
1:1and 3 : 2 respectively. Find

)= 3 V@ ) ’Lthe probability that only one of the

— two events occurs?

Aaﬂnwmﬁ%maﬁna%
@? @ TR A 1:18R3: 28|
Tl ¥ | Bad TP @ =i 8 @l

S‘ TR ST HIfT?

—6-:.,0 ( (a) 0.6 (b) 0.7
l (c) 0.8 M.s



The savings of Radha are equal to
28% of her expenditure. If her
income decreases by 5% and her
expenditure increases by 2%, then
her savings decrease by:

T & 97 SUD AT P 28% B
W 2| AT YD I 5% P9 B

Wl & 3R SHST Y 2% ¥ Wl &,
o S9! T9d fha- $9 8 Wl &

(a) 18% W

(c) 8.4% (d) 3%

B



In trapezium ABCD, AB || DC, AB
= 9 em, DC = 15 cm and the
distance between AB and DC is 4
cm. F and G are the mid-points of
AD and BC, respectively. DA and
CB are produced to meet at point
E. What is the area (in cm?2) of
A EFG?

g9 gyl ABCD ¥, AB || DC,

AB = 9 §¥I, DC = 15 9% 3iR AB 3R

D DC & A &I ¢ 4 9 8| F 3R G

| S C $H9: AD 3R BC @ #eg—fdg & DA

3R cB @ fdfg E ) fiew & forg

-j‘1¥ Saifed f&ar omar 21 &a%a (@92 #)
1 87

[ (a) 45 (b) 40
48 (d) 36







